BEFORE THE WASHINGTON UTILITIES AND TRANSPORTATION COMMISSION

WASHINGTON UTILITIES AND TRANSPORTATION COMMISSION,	DOCKET TG-130501 (consolidated)
Complainant, v. MURREY'S DISPOSAL COMPANY, INC., G-9,	DECLARATION OF IRMGARD R. WILCOX IN SUPPORT OF MOTION TO MODIFY FINAL ORDER 03 AS TO THE EFFECTIVE DATE OF REVISED RATES
Respondent. WASHINGTON UTILITIES AND TRANSPORTATION COMMISSION, Complainant,	DOCKET TG-130502 (consolidated)
v. AMERICAN DISPOSAL COMPANY, INC., G-87, Respondent.	DECLARATION OF IRMGARD R. WILCOX IN SUPPORT OF MOTION TO MODIFY FINAL ORDER 03 AS TO THE EFFECTIVE DATE OF REVISED RATES

- Irmgard R. Wilcox files the following statement in support of the Motion to Modify Final Order 03:
- My business address is 3600 Port of Tacoma Road, Suite 505, Fife, Washington, 98424. I am employed as a Senior Pricing Analyst with Waste Connections, Inc. for the Pacific Northwest Region specializing in Washington regulated operations of Waste Connections' affiliates. I submit this here on behalf of Murrey's Disposal Company, Inc. and American Disposal Company, Inc. (hereinafter "the Companies").
- I received a Bachelor's Degree from Pacific Lutheran University in 1993 specializing in accounting. Since 1975, I have been an employee or principal of Murrey's Disposal Company,

DECLARATION OF IRMGARD R. WILCOX IN SUPPORT OF MOTION TO MODIFY FINAL ORDER 03 AS TO THE EFFECTIVE DATE OF REVISED RATES - 1

Inc. and its affiliates under the prior ownership of Murrey's and was a minority owner and shareholder and officer of the company when it was purchased by Waste Connections, Inc. in 1999. In my current capacity I am responsible for preparing and submitting all rate and tariff filings affecting regulated Waste Connections solid waste collection companies in the State of Washington.

- Attached hereto is a true and correct copy of a document demonstrating how the Companies would propose to prorate billing invoices for regulated yard waste and recycling customers of Murrey's Disposal and American Disposal in the month of October, 2013 assuming an effective date of revised rates of October 16, 2013.
- As noted in the Motion to Amend seeking the expedited tariff effective date, the Companies estimate that authorizing the mid-month effective date would reduce the current revenue deficiency by approximately \$41,391.00.

DATED at **EATONVILLE**, Washington, this 7th day of October, 2013.

Irmeard R. Wilcox

CERTIFICATE OF SERVICE

I hereby certify that I have this day served this document upon all parties of record in this proceeding, by the method as indicated below, pursuant to WAC 480-07-150.

Commission: Washington Utilities and Transportation Commission 1300 S. Evergreen Park Dr. SW P.O. Box 47250 Olympia, WA 98504-7250	☐ Via Legal Messenger ☐ Via Facsimile ☑ Via U.S. Mail ☐ Via Email ☑ Via Web Portal
Steven W. Smith Assistant Attorney General 1400 S. Evergreen Park Drive S.W. P.O. Box 40128 Olympia, WA 98504-0128 Phone: (360) 664-1187 Email: ssmith@utc.wa.gov	□ Via Legal Messenger □ Via Facsimile ☑ Via U.S. Mail ☑ Via Email

DATED at Seattle, Washington, this 7th day of October, 2013.

Lyndsay Taylor

DECLARATION OF IRMGARD R. WILCOX IN SUPPORT OF MOTION TO MODIFY FINAL ORDER 03 AS TO THE EFFECTIVE DATE OF REVISED RATES - 3

Residential and Multi-Family Recycling	Rate crease	Prora Amoun Custo	t per	Average Monthly/Bi- Monthly Customer Count	Refund Due	Proration Method
One 96-Gallon Toter Every Other Week Pickup (with garbage service)	\$ 1.26	\$	0.63	48,406	\$ 30,495.78	Issue credit to customers for 1/2 of October
One 96-Gallon Toter Every Other Week Pickup (without garbage service)	\$ 1.89	\$	0.95	343	\$ 324.14	Issue credit to customers for 1/2 of October
Re-Delivery	\$ 3.67					Billed per pick-up. Tariff rate in effect applicable to date service is rendered will be billed.
Drive-in over 250 feet	\$ 0.79	\$	0.40	156	\$ 61.62	Issue credit to customers for 1/2 of October
Return Trip	\$ 2.20					Billed per pick-up. Tariff rate in effect applicable to date service is rendered will be billed.
	 Total R	esidenti	al Rec	ycling Refund	\$ 30,881.54	

Multi-Family Recycling		ate ease	1000000	oration ount per Yard	Approx. 1/2 Month Yardage		Refund Due	Proration Method
Per Yard Per Pickup	000000000000000000000000000000000000000	(224) 4-4 (8-1-1-2)	-spinor sales	344404404-1720-272-280	24 PT-24 NO 700 PT-44-00 VID-2010	200020937		Issue credit per yard, per pick-up, for pick-
	\$	0.78	\$	0.78	2,767	\$	2,157.87	ups 10/1 - 10/15.
	2,157.87							

Multi-Family Recycling Stations	Rate Increase	Proration Amount per Customer	Average Monthly/Bi- Monthly Customer Count	Refund Due	Proration Method
One 90-Gallon Toter Per Pickup	\$ 1.11				Billed per pick-up. Tariff rate in effect applicable to date service is rendered will be billed.
2-Yard Container Per Pickup	\$ 2.31			·	Billed per pick-up. Tariff rate in effect applicable to date service is rendered will be billed.
4-Yard Container Per Pickup	\$ 4.93				Billed per pick-up. Tariff rate in effect applicable to date service is rendered will be billed.
6-Yard Container Per Pickup	\$ 7.19				Billed per pick-up. Tariff rate in effect applicable to date service is rendered will be billed.
One 90-Gallon Toter Monthly Rental	\$ 0.84	\$ 0.42	126	\$ 52.92	Issue credit to customers for 1/2 of October
2-Yard Container Monthly Rental	\$ 2.20	\$ 1.10	18	\$ 19.80	Issue credit to customers for 1/2 of October
4-Yard Container Monthly Rental	\$ 2.73	\$ 1.37	-	\$ -	Issue credit to customers for 1/2 of October
6-Yard Container Monthly Rental	\$ 3.25	\$ 1.63	23	\$ 37.38	Issue credit to customers for 1/2 of October
То	tal Multi-Fam	ily Recycling S	tation Refund	\$ 110.10	

Residential and Multi-Family Yard Waste	Rate Increase	An	roration nount per ustomer	Average Monthly Customer Count	Refund Due	Proration Method
One 95-Gallon Toter Every Other Week						Issue credit to customers for 1/2 of
Pickup	\$ 0.62	\$	0.31	26,588	\$ 8,242.15	October
Extra Bag	\$ 0.20					Billed per pick-up. Tariff rate in effect applicable to date service is rendered will be billed.
Re-Delivery	\$ 1.84					Billed per pick-up. Tariff rate in effect applicable to date service is rendered will be billed.
		T	otal Yard V	Vaste Refund	\$ 8,242.15	

Total Refund for Services Provided 10/1/2013 - 10/15/2013 \$

41,391.65

Note: Lines shaded yellow above are non-standard "extra" billings. No refund will be necessary because the effective tariff rate applicable to the service date will be billed.